Name : Perimeter of Arbitrary Shapes
Chapter : Perimeter and Area

Grade : SSC Grade VI

EduSahara™ Assignment License : Non Commercial Use

1. If the length between any two consecutive points is 5.7 cm, find the perimeter of the given figure

(i) 89.20 cm (ii) 90.20 cm (iii) 92.20 cm (iv) 93.20cm (v) 91.20 cm

2. If the length between any two consecutive points is 6.8 cm, find the perimeter of the given figure

(i) 82.60 cm (ii) 80.60 cm (iii) 79.60 cm (iv) 81.60cm (v) 83.60 cm

3. If the length between any two consecutive points is 4.4 cm, find the perimeter of the following figure

(i) 121.20cm (ii) 124.20 cm (iii) 125.20 cm (iv) 123.20cm (v) 122.20cm



4. If the length between any two consecutive points is 4.8 cm, find the perimeter of the given figure

(i) 171.80 cm (ii) 170.80 cm (iii) 174.80 cm (iv) 173.80cm (v) 172.80 cm

5. If the length between any two consecutive points is 3.2 cm, find the perimeter of the given figure

(i) 27.60 cm (ii) 25.60 cm (iii) 23.60cm (iv) 24.60cm (v) 26.60 cm

6. If the length between any two consecutive points is 8.7 cm, find the perimeter of the given figure

(i) 86.00cm (ii) 88.00 cm (iii) 89.00 cm (iv) 85.00cm (v) 87.00 cm



7. If the length between any two consecutive points is 8.5 cm, find the perimeter of the given figure

(i) 101.00cm (ii) 103.00 cm (iii) 104.00 cm (iv) 100.00cm (v) 102.00 cm

8. If the length between any two consecutive points is 8.8 cm, find the perimeter of the given figure

(i) 122.20 cm (ii) 121.20 cm (iii) 125.20cm (iv) 123.20cm (v) 124.20 cm

9. If the length between any two consecutive points is 5.5 cm, find the perimeter of the given figure

(i) 86.00 cm (ii) 89.00 cm (iii)) 87.00 cm (iv) 88.00cm (v) 90.00 cm



10. If the length between any two consecutive points is 4.2 cm, find the perimeter of the given figure

L

(i) 76.60 cm (ii) 74.60 cm (iii) 73.60cm (iv) 75.60cm (v) 77.60 cm

11. If the length between any two consecutive points is 6.2 cm, find the perimeter of the given figure

T

(i) 122.00cm (ii) 125.00 cm (iii) 126.00 cm (iv) 124.00cm (v) 123.00 cm

12. If the length between any two consecutive points is 7.0 cm, find the perimeter of the following figure

%

(i) 72.00 cm (ii) 69.00 cm (iii) 68.00 cm (iv) 71.00cm (v) 70.00 cm

13. Find the perimeter of the shaded region given below
m

S

24 m %

(i) 89.00 m (ii) 95.00 m (iii) 87.00 m (iv) 92.00 m (v) 97.00 m



14. Find the perimeter of the shaded region given below

& 2m =

17 m

= 13m—3%

(i) 122.00 m (ii) 146.00 m (iii) 133.00 m (iv) 159.00 m (v) 158.00 m

15. Find the perimeter of the shaded region given below
7m

41 m %
() 102.00 m (ii) 123.00 m (i) 130.00 m (iv) 126.00 m (v) 141.00 m

16. Find the perimeter of the shaded region given below
am

(i) 132.00 m (ii) 144.00 m (iii) 160.00 m (iv) 173.00 m (v) 175.00 m



17. Find the perimeter of the shaded region given below

& B m

& m

(i) 158.00 m (ii) 155.00 m (iii) 170.00 m (iv) 141.00 m (v) 184.00 m

18. Find the perimeter of the shaded region given below
& 2m =

5m

(i) 138.00 m (ii) 131.00 m (iii) 160.00 m (iv) 110.00 m (v) 152.00 m

19. Find the perimeter of the shaded region given below

5m 5m 5m
&y

1B m

5m

(i) 165.00 m (ii) 156.00 m (iii) 124.00 m (iv) 112.00 m (v) 138.00 m



20. Find the perimeter of the shaded region given below

& Z1m =S

(i) 162.00 m (ii) 154.00 m (iii)) 147.00 m (iv) 179.00 m (v) 166.00 m

21. Find the perimeter of the shaded region given below
& 2im 2

(i) 186.00 m (ii) 171.00 m (iii) 190.00 m (iv) 209.00 m (v) 172.00 m
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